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Question Number : 1 Question Id : 41652013776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In the density measurement of a cube, the
mass and edge length are measured as
(10.00+0.10) kg and (0.10£0.01) m,
respectively. The errorin the measurement
of density is :

Opdons :



3
41652953882 10 kg/m

0.07 m’
41652953883, kg/

1
41652953884, 001 kg/m

5
41652953885, 001 ke/my

Question Number : 1 Question Id : 41652913776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s TFERR T2 1 9 (el & (o, 35
ZEHE A91 FIT HI1 AH=E, HEW:,
(10.00 % 0.10) kg 97 (0.10 + 0.01) m =1 S
€| T & = H A v

Options :

3
41650053880 O10kg/m

0.07 kg/m’
41652953883

3
41652953884, 001 kg/m

3
41650953ggs 001 kg/m

Question Number : 2 Question Id : 41652213777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The stream of a river is flowing with a speed
of 2 km/h. A swimmer canswim ata speed
of 4 km/h. What should be the direction
of the swimmer with respect to the flow of
the river to cross the river straight ?

Options :

41652953886, 1oV

L]
41652953887, 60

L]
41652953888, X



41652953‘839.12&J

Question Number : 2 Question Id : 41652913777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
U &l Hi 9 2 km/h #H E q 92 @ T
UH G0 4 km/h F1 G W T GHA@ R AOE
=1 721 i o %1 =7 fowm, femd s =
T IR T Heh, 791 20 7

Oprons :

41652953886, 1oV

41652953887,

41652053888, 0

,
41652053889, 120

Question Number : 3 Quesdon Id : 41652213778 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A ball is thrown vertically up (taken as
+z-axis) from the ground. The correct
momentum-height (p-h) diagram is :

Options :
41652352530
JL{
U-—‘;-ph
| 7
41652953891
Jh_-P
b |
o—h
|
41652353832




41852953893

Question Number : 3 Question Id : 41652913778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
% E & FT FI HT FAE
(A +z-#1%) few & W W 21 s
HEl HAT-FEE (p-h) o= & -

Options :
41652953890,
JLLP
L
41652953891 [
JL-?
3] \‘i »h
Y
41E529535492.
JLP
A
—r
416529538493,

Question Number : 4 Question Id : 41652213779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A body of mass 2 kg makes an elastic
collision with a second body at rest and
continues to move in the original direction
but with one fourth of its original speed.
What is the mass of the second body ?

Optons :

41652953894, 1 ¥8



2
41652953895, 12kg

1.0k
41652953896, B

41652953897 O K8

Question Number : 4 Question Id : 41652213779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TF 2 kg FH F fug #1 wems g uE
feom fifz 3 2 81 ween fve s7o wRfys
fem # I @ € afF 3o ofa A a
e TS 8 W ¢ | g6 e 1 EemEE
7 ?
Options :

41652953894, 1 K8

41652953895, "2 KB

.0
41652953896, ! kg

1.8
416529538397 kg

Question Number : 5§ Question Id : 41652913780 Question Type : MCQ Opron Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
A uniform cable of mass ‘M’ and length 'L’
is placed on a horizontal surface such that

th
1
its (;] part is hanging below the edge

of the surface. To lift the hanging part of
the cable upto the surface, the work done
should be :

Options ;

M J.'f_L

z
416529538498, B

2MgL
Mg

41652953899,



‘Mgl
o |
41652953900, =N

41652953801, "M8L

Question Number : § Question Id : 41652013780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
FEA M’ A4l = L # Uh UHEEE
Fae UF dfaw THee WTA wE T §

wﬁ%mﬁwmwﬁﬁﬁ%

TZH € | TH TIF B Fael % (e % aHad
TF S "@ad F fau fFm w w5 aen
Options :

Mgl
41652953898, N

2MgL
Z
416852953899, N

Mgl

3
41652953900, -1

41652953001, "MaL

Question Number : 6 Question Id : 41652913781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

The following bodies are made to roll up
(without slipping) the same inclined plane
from a horizontal plane : (i) a ring of
radius R, (ii) a solid cylinder of radius

R R
el and (iii) a solid sphere of radius e If,

in each case, the speed of the center of mass

al the bottom of the ncline i1s same, the ratio

of the maximum heights they climb is:
Options :

41652053902 1312



41650053003, 14:19:20

41650953904, 1W0:19:7

41652953905, = 04

Question Number : 6§ Question Id : 41652913781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
T =l e et ToaE | T 95 20 HEae
T Fewd gy, (T frmer) s =1 s e

%:(ﬂﬁWRﬂwmﬁ}ﬁm%m

ﬁ%ﬁﬁ?ﬂm{w)ﬁﬁﬂ%ﬂ?{@@m

el | A W o F ZeE g w1 e
Foh BU THAS & (17 (95 T a2, a1 396
B =2 Tt Afeeras SEEdl A0 2
Options :

+3+9
41652953902, &35

41652953003, 14:15:20

41652953904, 01317

41652953905, 2 04

Question Number : 7 Question Id : 41652913782 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
A stationary horizontal discis free to rotate

aboul its axis. When a torque is applied on
it, its kinetic energy as a function of 8, where
B is the angle by which it has rotated, is
given as k02 I{ its moment of inertia is |
then the angular acceleration of the discis:

Options :

L

41652953906, |



2k
2y
41652953907, 1
L
41652953908, 21

E:.J:x'

41€52353909.

Question Number : 7 Question Id : 41652213782 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
= feop dfas oo a1t 319 F ofte: g &%
ol wada &1 99 39 W US 99 Al e

I €, F SO as F91 0 F Fe H ko2 o
& W ¥, T 0 UfyEm ww g ate e
ST AU 1 & 1 SHER Vi =W E
Options :
L
41652953906, |
x,
41652953907, |
L
41652953908 21
Xy
41652953909, H

Question Number : 8 Question Id : 41652813783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A solid sphere of mass ‘M’ and radius’a’ is
surrounded by a uniform concenlric
spherical shell of thickness 2a and mass 2M.
The gravitational field atdistance ‘3a’ from
the centre will be :

Oprons :

GM

3
41652953910 Ya



2GM

41652953911 YA~

41652353912

2GM

3
41652953913 4

Question Number : § Question Id : 41652913783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ZHE ‘M’ A9 30 ‘2’ F1 U 2 e U
THFYHH TR Tera smaro), ot e
23 TN EFFIH2M' T, AU F= 3’
i W EEE W 2

Options

3
-

41652953910, “a

2GM
2

41652953911, 79

‘GM

2
41652953912, @

2GM

a2
41652953913

Question Number : 9 Question Id : 41652213784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Fora given gas at 1 atm pressure, rms speed
of the molecules is 200 m/s at 127 °C. At2
atm pressure and at 227 °C, the rms speed
of the molecules will be :

Options :

41652953914 100V5 m/s

41652953915, 805 m/s



41652953916, 00 M/

41650053917, S0 m/s

Question Number : ¢ Question Id : 41652913784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks : 1

1 atm T=19 991 127 °C A9 W UF o &4
9 % AAT F 0 W {A@ AT
200 m/s T TH T F A0 = 0w e
3T 227 °C 191 2 atm Z=19 ST :
Options :

41652953914 100¥5 m/s

41652953915, SUNI m/s

416529533916. i

41652953917, S0 m/s

Question Number : 10 Quesdon Id : 41652913785 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A simple pendulum oscillating in air has

period T. The bob of the pendulum is

completely immersed in a non-viscous

1
liquid. The density of the liquid is Elh of

the material of the bob. If the bob is inside
liquid all the time, its period of oscillation
in this liquid is :
Oprions :
T, [

. 10
41652953818

elTl

41652953919, 15

4T

41652953920. 4



ar 2

41652353921 14

Question Number : 10 Quesdon Id : 41652913785 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

TF T 2AF F g H FEaHeE T &1 59
2T F TeTE U v e v, faw

EﬁﬁiﬁM$$%FfFﬁﬂiﬁlé%'%{ﬁ?ﬁﬁﬁiﬁﬁﬂﬁ

%\ 7z <o ¥ |99 9 e yuiaE: 29 0
@A F AN THE AAEE 2

Oprions :

41652853818

41652953919 15

41652953820

41652953821.

Question Number : 11 Question Id : 41632913786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Following figure shows two processes
Aand B for agas. If AQ , and AQj, are the
amount of heat absorbed by the system in
two cases, and AU and AU are changes
in internal Energ:ies, respectively, then :

Options :

41652953922 AQ, = AQy; AU, = AUy



=
4165053903 3Qa>AQy, AU, > AU,

41650053004 AQa>AQg, AU, = AUy

41652353925, AQ, <AQy, AU, <AU

Question Number : 11 Queston Id : 41652913786 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
fmfEiasfrmsfiAas R
fora famarn &1 afe AQ, A AQ,, 57 WiwaNsl
¥ <R wifoa SeEnd a= AU, 9 AU, T
SAAF T & qadd €, al ;

Options :
41652953022, 2Qa = AQp; AU, = AU

41652953923 Q4 >4Qy. AU, > AU,

41652053924 QA > AQg, AU, = AUy,

41652953925. AQ, <AQy . AU, < AU,

Question Number : 12 Question Id : 416521913787 Qu&sﬁun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
An HCI molecule has rotational,

translational and vibrational motions. If the
rms velocity of HCl molecules inits gaseous
phase is ¥, m is its mass and ky is
Boltzmann constant, then its temperature

will be ;
Options :
2
muw
41652953926, B



2

my
41652953927, *B

my>
41652953928, B

mp >
41652953929, KB

Question Number : 12 Question Id : 41652913787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

HC1 &9 ¥ T9A, TFFEE 791 F99 Tl
arel &1 afe HCL 4 % st =1 =i wrs ga
A 7 & m THE EEE €, O S a9
B : (ky : AereEaE )

Options :
mff:
416529353926, 7kg
mi 2
41652953927, ~<B
e
41652953928 B
my 2
41652953929, KB

Question Number : 13 Question Id : 416329137588 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A string is clamped at both the ends and it
is vibrating in its 4'" harmonic. The
equalion of the stationary wave is
Y =03 sin(0.157x) cos(200wt). The length
of the string is : (All quantities are in SI
units.)

Opdons :



41652953930, S0 m

41852353931,

41652953932, XM

41652953933, M

Question Number : 13 Queston Id : 41652913788 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
T 6 % S e T T T A
I7 A 994 AR § T F W € T4
AT T 1 FHH 2 Y = 0.3 sin(0.157x)
cos(200xt). 9 ZT I TFETE B8
(=it afmai S1oaEF | #1)

Options :

41652953930, S0 M

41652953931, XM

41652953932 m

416523853933. O

Question Number : 14 Question Id : 416521913759 Qu&sﬁun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The pressure wave,
P=0.01sin[1000t— 3x] Nm ~ 2, corresponds
to the sound produced by a vibrating blade
on a day when atmospheric temperature is
0°C. Onsome other day when temperature
is T, the speed of sound produced by the
same blade and at the same frequency is
found tobe336 ms . Approximate value
of Tis :

Oprions :

2
41652953934, 12



3

41€52353935.

416852353936, 1€
]

41652353937. Fe

Question Number : 14 Question Id : 416521913759 Qu&sﬁun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

F9H FA g TF T G Ieed AN F
FAHR ZAE 0 F T ¢

P=0.01 sin[1000t - 3x] Nm 2 39 fa7
AFHUEE F1 a9EE 0°C 71 Tt 3 feq 94
AT T & ot 34T 91 R SHt safe 4 3afea
s FI A 336 ms ! WA AW E1 T H
T A 2

Options :

7
41652353934, 12°C

4165239533935 s

41652353936, B

41652353837, e

Question Number : 15 Question Id : 41632913790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

A capacitor with capacitance 5 pF is
charged to 5 pC. If the plates are pulled
apart to reduce the capacitance to 2 pF, how
much work is done ?

Options :

41652953938, 2% 1077]

41652953939, >16%107°]

=%
41652953940, =20 %x1077]

=iy
41652953941, >0 %x107%]



Question Number : 15 Question Id : 41652913790 Qu&sﬁun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

5 wF Hifean % us S9ifed &1 5 wC o At
foren <t &1 afe i 7 w2 1 9 T
THET Wi 2 wF S 9 W e T e
am
Options :

-6
41652953938, -2 x1077]

41652953939, >-10X1077]

—
41652953040, =2 X1077]

==
41652953941 2% 107%]

Question Number : 16 Question Id : 41651913791 Queston Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A system of three charges are placed as
shown in the figure :

e

If D >> d, the potential energy of the system
is best given by :

Opdons :

41652953942

41652953943

41652353844

d1re : d
41652953945 e l D



Question Number : 16 Question Id : 41652913791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Tt farg @i &1 uF fae faa & =fvia &)
T D >>d 159 Fem =t am fefas s=i
a1 -

+q
d

Options :

: |
dme,
416529535942

41652953943,
1 [ ¢, 290Qd
dre, d [_",l2
41652953944
1 [ _ qz qu]
dre d 2
41652953945, v l D

Question Number : 17 Queston Id : 41652913792 Quesdon Tyvpe : MCQ) Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A wire of resistance R is bent to form a

square ABCD as shown in the figure. The

effective resistance between E and C is :

(E is mid-point of arm CD)

A B

D E C

Options :

41652853846,

41652953947



=B

41652953948 64

R
416523539489.

Question Number : 17 Question Id : 41651913792 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

qfaars R 5 U5 717 = F9aEe v 91 ABCD
H e #1 fag Eaen C ¥ ot waEt
HfeIs =1 | 277 :
(E 41 CD %1 #eafas 2)
A B
D E C
Options :
3R
41652953946, 3
LR
41652953947 16

t
41850053045, 64

o>

41652353943,

Question Number : 18 Question Id : 41652913793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Determine the charge on the capacitor in
the following circuit :
—AN Vi
6 () 21)
= 40> 100> =10uF

72V

Options :

41650053950, 2 PC



41652953051 200 KC

4152953952, 0 C

41652053953, U HE

Question Number : 1§ Question Id : 41632913793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

fa T wftag | wunfer w AEw 9w Fifer |

A ;
EINE n_
- 4 ﬂ';f 10 .!1,1 =10 pF

Opdons :

72V

41652953950, 2 M€

41652953951, 200 KC

41650953052 00 KC

41652953953, 10 WC

Question Number : 12 Question Id : 41652013794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A rectangular coil (Dimension
5 cmx2.5 cm) with 100 turns, carrying a
current of 3 A in the clock-wise direction,
is kept centered at the origin and in the
X-Z plane. A magnelic field of 1T is applied
along X-axis. If the coil is tilted through
45° about Z-axis, then the torque on the coil
is:

Options :

41652953954 -2/ Nm

41652953955, 0-20 Nm

41652953956, -8 Nm



41652953957, 42 Nm

Question Number : 19 Question Id : 41651913794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

TS 100 L el AFEEE (5 cm X 2.5 cm)
FHeell 1 3 A H 4 92 F OGS F fawm v A
R 3 e = g A W Ffen w0
X-Z 99ael H T T 1 T W s A
X-a1% %1 fawn # 81 afz Fechl #1 25w F
qftd: 45° | qAW €, 9 79 W 0 79 A
7

Options :

b
41652953954 2/ Nm

41652953955, U0 Nm

41652953956, 038 Nm

41652953957, 042 Nm

Question Number : 20 Question Id : 41632913795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
A rigid square loop of side “a’ and carrying
current I, is lying on a horizonltal surface
near a long current |, carrying wire in the
same plane as shown in figure. The net
force on the loop due to the wire will be :

I I
# Iﬂ
= |
Options :
41652953958, 2°F0

o k1
Attractive and equal to 2212
41652953959, 3w



w LI
Repulsi\re and equal to Fo12

41652953960, 4

Ko IIIE
2

Repulsive and equal to
41652953961.

Question Number : 20 Question Id : 41632913795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

[ ‘a’ AN U §8 FHR aerd, faed anl,
2, U Afs guaet 9 Ta ¥ S e W
YT [, A UF AR FAEn ) G ga
T Fo1F T Fel = 2

Il F I1
W A Iﬂ

41652953958, w

Oprons :

” I41s .
s v 202 3 e
41652953959, 3w

"y ) e
uﬁm@ﬁ#mw
41652953960, i

YT 5
wfamiw vE D12 F e
41652953961, Im

Question Nomber : 21 Queston Id : 41652913734 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

The total number of turns and cross-seclion
area in a solenoid is fixed. However, ils
length L is varied by adjusting the
separation between windings. The
ind uctance of solenoid willbe proportional
to:

Oprions :

41652953062, L



LE
4185239539632

2
41652953064 /L

41652353965, 171,

Question Number : 21 Question Id : 41652913796 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ua yfenfas § e W F GE ag) Fe
e fraa %1 g oo s L 90 5ES
i % 49 30 FeeE sfEfia =1 g §
38 Ui F1 EWEEE THEIE 20

Oprions :
41652053962

-

41652953963 L

;
41652953964, /L7

41652953965, 1/ 1

Question Number : 22 Question Id : 416521913797 Qu&sﬁun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

The magnetic field of a plane
electromagnetic wave is given by :

B‘=B¢, i [ms[i-:z. = mt)i + By fms{icz + wt)

where By=3x10"°Tand B, =2x10"°T.
The rms value of the force experienced by
a stationary charge Q=10"*Cat z=0is
closest to :

Options :

41652953966, i

41652953967, > < 107N

41652953968, 09N



41€52353%649. N

Question Number : 22 Question Id : 41651913797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

uF gad faga TEwE 71 @ grEasy 89
e

BBy i [coslk ~ ah)] + B; jooalks+ at)

7@ B,=3x10-5T 941 B,=2x10"¢ T &I
uF fer s Q=104 C &1 z=0 W @
T E | SHR O 1 " qel 96 o aieee
'FIFT@"TI:

Oprons :

41652353966, a0l

41650053967, S X 107N

41652953968. SN

416523953963 0N

Question Number : 23 Queston Id : 41652913798 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A concave mirror for face viewing has focal
length of 0.4 m. The distance at which you
hold the mirror from your face in order to
see your image upright with a
magnification of 5 is :

Oprons :

41652953970, 16 m

41652953971, 1-60m

41652953972, 002 m

2
41652953973 0.24 m

Question Number : 23 Question Id : 41632913798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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ST B F o & a4 UF 0.4 m FFEH g0
T AT T ITAW A € | Afg A9 Wfataa
1 4 3R 5 T = I & AT
q @W‘lﬁﬁ"“ -

Options

41652953970, 16 M

41652953971, 1-60m

41652953972, 032 m

41652953973. D24,

Question Number : 24 Question Id : 416521913799 Qu&s&m Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks : 4 Wrong Marks: 1
The figure shows a Young's double slit
experimental setup. It is observed that
when a thin transparent sheel of thickness
t and refractive index . is pul in front of
one of the slits, the central maximum gels
shifted by a distance equal to n fringe
widths. II the wavelength of light used is

A, twill be:
J" Screen
aII
D
Options :
[Dx
a1650953974 O D
nDA

41652853975, 2w 1)

41652953976 2 1)

2nDA

41652953977 Ak — 1)
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o= § <n =1 fferdl v = faam femrn B
TF YA 1 & o 99 U qeel qREvil \ieTs t
T AYFGAS o B (ool o Bl F a9
o, W FRE AfEa A9 ™H A n
frw-<red 4 faenfya & o 81 afe 59
AT 5 I9ET TR T WA A aies A g
t 1 |E B

ﬂ ) 1
41652953974, 20— 1)

41652953975.

41652953976, 2 — 1)

2nDA

41852953977, alk — 1)
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Taking the wavelength of first Balmer line
in hydrogen spectrum (n=3 to n=2) as
660 nm, the wavelength of the 2™ Balmer
line (n=4to n=2) will be :

Options :

41652953975, 289 nm

41652953979, S00-2 M

416529539g0, 089 nM



41650953¢0g1, 0147/ nm
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Afg FIgEeA TRy #I 99H 9L @A (n=3
# n=2) & WA 660 nm, B A THA TR
A (n=4 A n=2) FI T4 B :

Oprons :

4165205397, oo nm

41652953979, 002 nM

41652953950, o0 nm

416529539g], O3%7 nm

Question Number : 26 Queston Id : 41652913801 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
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The electric field of light wave is given as
N

2ex

E =10 ‘cos -
hx 10

27 X 6 X lﬂ”ti; —

] K
This light falls on a metal plate of work
function 2eV. The stopping potential of the
photo-electrons is :

Given, B (in éV) = 120
Ain A)

Options :

41652353982, sy

41652353983, WY

41652953984,

2
41652353985, bl
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TN T U w0 A A A g
e Bk Y\ AN
E=10 ltﬁ{m— 2rxox Iﬂbtl-ll X E
IE W U {1 HI T2 W AT € foaan
= FeE 2 eV & | eI SetsheiAl o (e
fava =1 | 2

12375

fEmBE (eVH)=—
MA H)

Options :

41652953982 072

416523953983. 048V

41652953984 ZA0 N

41652353985, 28N
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Correct Marks : 4 Wrong Marks : 1
An NPN transistor is used in common
emitter configuration as an amplifier with
1 kil Ioad resistance. Signal voltage of
10 mV is applied across the base-emitter,
This produces a 3 mA change in the
collector current and 15 pA change in the
base current of the amplifier. The input
resistance and voltage gain are :

Options :

G ,
41652953986, T el i)

41652953987. BN 15

41652353988. 67 kR 200

41652953989, U-67 k2,200
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UF NPN 2=t %1 3vfes saqe fa=amm
7§ UF WA4F (amplifier) 1 TE STAR H4
#1359 1 kO = e W MR 10 mv
%] fe dives 3R 9 S99 F 99 |
T 9T HOTEE HWTH 3mA 1 AT SR 4
H 15 pA &1 9fEdq @ 1 e wiey a9
drees @fe (gain) % T &

Options :

3 :
41852953986, 0.5 K1), 300

41650953087, 00 KL 1.5

416523953988, 067 13, 380

41652953989, 0-67 k2,200
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A signal Acoswl is transmitted using
g sinwgt as carrier wave. The correct
amplitude modulated (AM) signal is :

Options :

T, sinw,t + Acoswt
41652953990, ot
41652953991, Pot Ajcoswt sinugt

, & - o

DgSinwg t+ — sinfw, — o|t+ Rin(wg+ w)t
41652953992 2 3
41652953993 vy sinfwg(1 + 0.01Asinwt)t]
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uF 9@ Acoswt & WHNR dATEH TLT
v, sinew,t ¥ TF T 81 wE AW wigfem
forat @ -

Options :

7, sinw. ! + Acosmt
41652953990, ! 0



41650953091 (Lot A)coswt sinw,t

, A, ' P
Uy Sing t + - sln({.:n = m]i + ?s:rnlmn-l- m_lt

41652953582 - =

stEseasspen TRl Ol snutg

Question Number : 29 Question Id : 41652013804 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
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If ‘M’ is the mass of water that rises in a
capillary tube of radius ‘r’, then mass of
water which will rise in a capillary tube of
radius “2r' is :

Options :

41652353984, =

418652353895,

41€52953946.

—

A
41652953997, 2
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Tfe U ‘v T 1 e e | we g e
F g9E M 2 @2 B F e el
H =@ At YT 1 ZSHA A

Options :

416523953994, M

41652353995, -

418520539496,

MIEI

41652853097
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Correct Marks : 4 Wrong Marks: 1
A moving coil galvanometer has resistance

50 2 and it indicates full deflection at 4 mA
current. A voltmeter is made using this
galvanometer and a 5 kf} resistance. The
maximum voltage, that can be measured
using this voltmeter, will be close to :

Options :

41652353988, pare

416529539935, By

41652954000, 20V

41652954001,
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T IE FEcA SR F 9 50 0 F T
TE 4 mA W0 T qvi g famm 21 W5 k0

TS T SYENT Fh UF AleeHiE a E |
T Seesier § SAfaemas Y o W A Aol
=1 freheas WM 2 :
Options :
41652353998, WV
41652953999, By
41852954000, 20V
41652954001, N
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Question Number : 31 Question Id : 41652913806 Question Type :
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Correct Marks : 4 Wrong Marks: 1

The major product of the following reaction

15

CH.CH=CHCO,CH, —=Alt
Options :

41652054002, CHaCHCHCOLCH,

aiessusatey SR CHCH,OH

41652954004 —raCHCH,CH,OH

41652954005, CHCH,CHLHO

1
416530427
Yes

MCQ Option Shuffling : Yes Display Question Number : Yes
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frefafaa sifafea =1 =7 300 & -

CH,CH=CHCO,CH, —4

Options :
41852954002 HaCHCHCO,CH;,

41652954003, —HhaCH=CHCH,OH

41652954004, CHaHCH,CH,OH

41652954005, - T2CHAHO

Question Number : 32 Question Id : 41652913807 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The increasing order of reactivity of the
following compounds towards aromatic
electrophilic substitution reaction is:

OMe J
"""-u..\ -._

Oprons :

41652054006, A<B<C<D

41652954007 D <SA<C<B

41652054008, D <B<A<C

41652954009 B<C<A<D

Question Number : 32 Question Id : 41652913807 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

frafafge @il & wifes o=
wiaeare sifafean & fou sfvfraeiem =

T H L
% "hir: CN
Opdons :

41652954006, A<B<C<D

41652354007, RefAsCsb

41652954008 D <B<A<C

41652954009 B<C<A<D
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The major product of the following reaction

5.
Y e (i) DCI (1 equiv.).
CH3C=CH 1
Optons :
41852954010, CHaCDCH(CH()
41852954011 CHaCDMCHDE)
41852954012 CHACDENCHD()
41650054013, CHFC{I}(CI)CHD:

Question Number : 33 Question Id : 41652913808 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
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Freifafias sfufrn F1g= T= &

(i) DCI (1 wogen)
(ii) DI J

CH3C=CH

Options :

41852954010 CHsCDCHC)()

41652954011 T CDMCHDEC)

41652954012 CTCDEHCHD()

41652954013, D,

Question Number : 34 Queston Id : 41652913809 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Which of the following statements is not
true about sucrose ?
Optons :

On hydrolysis, it produces glucose

41650054014 and fructose

AGERBEAOIE It is a non reducing sugar



The glvcosidic linkage is present
between C; of e-glucose and C; of

41550954016, Priructose

Itis also named as invert sugar
41852354017,

Question Number : 34 Question Id : 41652913509 Qu&sﬁun Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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TErg ¥ Hay § frefafan 8§ 4 $9-w F99
T T 2
Options :
e SATHTEd 3 T, HE T a9 R
41652354014 EF“HI%I

41652954015, € &P STAeqHI e &
aTTHE FH C, T B-FREFC, F
4165295401 AT TOSHIEEE HY B €

T U AT W I aLe Wi S S
41652954017, ©!
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The major product of the following

reaction is:
o i
> . 1. PBry
—QOH -
> P 3. KOH (alc)
O
Options :
f\”ﬁﬁ“\\\;.
el F
g

41652954018 HO

K3
x. P
r"'

41652954019, O



41652354020. o

# 2,
& Ry
., e
y '

;.--'
)

41852954021

Question Number : 35 Question Id : 41652913810 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Frefefian sifafra =1 =1 3 #

% 1. PBry
: >—OH .
=y A 2. KOH (alc))

r"f I“""--
< !
L ¢f

) S

41652954019 O

& ™~ OH
b 4

"
Y
rd
416523954020

41652354021
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The major product of the following

reaction is:
(1) KOH (ale))
(2) Free radical
polymerisation
Cl
1
Options :
( | -]n
41852954022 ﬂ
frs
~T
416852954025 J:I
41652954024, o
FH:;
by
41652954025,
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Frfafas sfafen =1 7= e e
_, ()KOH (al) _
(2) g e
AEARIH]

cl
Cl



Options :

5
/LN |
: =

41652854022

41652954023,

i
"3

b

41652354024

416852354025
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The major product of the following

reaction is :
CH>CH3

(i) alkaline KMnOy
(i) HyO* '

Oprions :



COCHjy

41E52954026
COOH
41652054027
CH,CHO
41652954028
CHLCOOH
41852354023
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1 sifuferan =1 9 s ©
CHpCH3

(i) @™ KMnOy
(i) H3O* '

Options :

COCH3

41652954026

COOH

41652954027



CH,CHO

416523954028

CH,COOH

41552954025
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The organic compound that gives
following qualitative analysis is :
Test Inference
(a) Dil HCl Insoluble
(b) NaOH solution soluble
(c) Br,/water Decolourization
Options :

41652954030
‘__,.-* N[“Iz
41652954031

41652354032

KTNH"Z
R
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41652954033



e A s Fefefaa e favemn
il A

(@ @9 HCl Sﬁfﬁqﬂhﬁ

) NaOH faaga g

[‘:} B]':f-ﬁﬁ"'l '-[:T[ 1 ﬁtﬂ é‘r,:n

(fa=vi)
Options :

_OH
41652354030

+NH»
41652954031

-OH

41652954032

~NHp
41652954033
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The correct IUPAC name of the following
compound is:

JN\DI
(O

A
"Hy

Options :

41650654034 >-chloro-4-methyl-1-nitrobenzene

41852954035, 2-chloro-1-methyl-4-nitrobenzene



41652954036, 2-methyl-5-nitro-1-chlorobenzene

41652954037, 3-chloro-4-methyl-1-nitrobenzene
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freferfaa A %1 98 IUPAC 99 &

NO,

A

.f-“. |

HH fff\
b,

Oprons :

41652954034, - FN-4- AU 1A

41652054035, 2 FN0-1-FfUE4-ATEZISI

41652054036, 2 T4EH5-TIEZH-1-FARII=I

3-FANL4- A |- AEgrasi

41652954037.
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Aniline dissolved in dilute HCl is reacted
with sodium nitrite at ("C . This solution
was added dropwise to a solution
containing equimolar mixture of aniline
and phenol in dil. HCL. The structure of

the major product is :

Opdons :
VAR 7\
\ Ve N=N-NH 4&
418523954038, - —
N A
¥ f/rr %Y
¢ N=N-0-< x‘/

41e52954033, —_ &



4\ ’—\
{/‘ \\_ N=N _<x’ )_N

41652954040, / e

R /
¢ \iFN N~ /\— OH
M — —

41652354041
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T HCl ¥ ¥t g¢ Ufeii 1 |ifeas "i5gise
¥ Wy (°C W sAfufEfm fem s 2
Taerm =1 Ui g9 et & woves fago
F W1 HCl faerm § 9=2-92 + foemn s
¥ T IS HI BTG

Options :

\ VR
{ f}.—N=N—NH—{/ N

41652954038 — s

¢ Nnen-od

41652954039 =/ N—=/

41652954040, “—/ \—

41652954041
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The element having greatest difference
belween ils lirsl and second ionization

energies, is
Options :
41652954042

41652954043, <2



41652954044..Ba

41e52954045.
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woqH A1 fgdra A Fie F 9 gaiias
AR aaHe T®e .
Opdons :

41652054042 K

41652954043 <2

41652954044

41652054045,
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The ore that contains the metal in the
form of {luoride is :
Options :
41652954046, “Phalerite

cryolite
41652954047, :

41652954048, magneate

41652954049, Malachite
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I T g WINEE F ¥ H %, 98 T :

Options :

41652954046. HRETE2

41652954047 i



41652954048 HeTEE

41652354049, :
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The number of water molecule(s) not

coordinated to copper ion directly in
CuSO,: 5H,0, is :
Options :

41652354050, !

I

41652354051
41852954052

41652354053
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CuSO, 5H,0 H, Tl & & 919 HiY #9
# IymegAifan @ @9 FEnaE SE §
3“5(3ﬁ)7ﬁi¥ﬁ¥ﬂﬁf:

Options :

41652954050.1

i)

41652554051
41652854052

41652954053,
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Magnesium powder burns in air to give :

Options :

41652954054 MEO only



Mg(NO,), and Mg N,
41652954055, 8(NOs), R

41652954056, W80 and Mg;N,

MeO and Mg(NO
41852954057, 80 8(NO3),
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Hrifergs WIEt 91 H ot S

Oprions :

HEA
41652954054, M

41655954055 MB(NO3), T Mg;N,

41650954056, 8O TN Mg;N,

MgO T4 Mg(NO.,),
41652954057. 8 g(N J‘
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The correct order of the oxddation states
of nitrogen in NO, N5O, NO, and N,O,
15 :

Options :

41652954058, NG <HO< N0y < NP

{ e ) -
41652354059, N0 SR S0

41652954060, 120 < NO<N,O; < NO,

N,O < N.O, < NO< NO,
41652954061 - e *
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NO, N,O, NO, 1 N,O, # Arsgiaq &l
TR STl I HWE FE E

Options :



41652954058, 02 < NO<N,O, <NO

<
sieEsesdnes NO2 <N O;<NO <NO

416509540c0. V20 <NO<N,O; < NO,

N,O< N,0O, < NO< NO,
41652954061, - 2
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Cm, an allotrope of carbon conlains :

Oprions :

41850954060 20 hexagons and 12 pentagons.

41652954063 12 hexagons and 20 pentagons.

S1E5DO54064. 16 hexagons and 16 pentagons.

S1ESDOEA0ES 18 hexagnnﬁ and 14 pentagons.
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FHA F UFH ATEIC,, H T E
Options :
41652954062, 0TI T 12 9Y
41652954063 12 FeIW GO9I 20 FHYS

41652954064 Sl 1

41652954065. L de b R 1
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Match the catalysts (Column I} with
products (Column LI).

Column 1 Column 11
Catalyst Product
(A) V50O (i) Polyethyvlene
(B) TiCl,/Al(Me), (ii) ethanal
(€ Pdq, (i) H,S0,
(D) Iron Oxide (iv) NH,
Options :

41852954066, (A)X(i); (B)-(iii); (C)-(i); (D)iv)
sressasaney (AHIV); (B (-G (D)-6)
sresossaoes. (AF: B)-Gv): (C-(): (D))

41650854069, VAHD; (B)-(); (O)-(i); (D)-iv)
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FEH (FHTAE 1) = 39 (FTEF 1) &

'-H'Tﬂ"qﬂﬁ'lﬂ e

HTed | T 11

T AT
(A) V.05 () ofaEE
(B) TiCl,/Al(Me), (i) U&=
(C) PdCl, (iii) H,S0,
(D) PR AFEE (iv) NH,
Options :

1652954066 (A)(i); (B)-(ii); (O)-1); (D)-(iv)
41652954067, AF ) (B)-{iid); (OH(H); (D)-()
41652954065, VWD) (B)-(iv): (CF-(i); (D)-(ii)

41652954069 (AL (B)-(1); (C)-(i); (D)iv)

Question Number : 48 Quesdon Id : 41652913823 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks: 1
The one that will show optical activity is :

(en=ethane-1,2-diamine)

Options :
A i
-\.‘Hx‘-‘- | e _‘ - ‘-\.\
- me f:n
B - | S
41652954070, B
e
B — | B
~_.
JEM s
B | )
41652954071 A
i
rd H"“‘.H | = o~ N,
en M en
o~ i x“"x ,.f"f
41652954072, A
A i B
H‘““a__ i
M
Bl= I A
41652954073, B

Question Number : 48 Question Id : 416529135823 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

il YA ST WaTe H E Aw e
(en= THF-1,2-STEUHMA)

Opdons :

41652954070 B



41652954071

41652854072 A

4165235407 3.

Question Number : 49 Queston Id : 41652913824 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

The degenerate orbitals of [Cr(H,0) ]**
are:

Options :

d»> ~»andd
41652954074 ~ ¥ i

d.andd .
41652954075 d-"*

doandd _
41652354076, - e

41652954077 d-": s d:F

Question Number : 49 Question Id : 41652913824 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
[Cr(H,0),]* * % SAvmifaa F o -

Options :

d2 »dEd
41652954074, * ¥ ¥

d.d4qa1d,.
41652954075 = d?‘-



dodsd, .
41652954076, * -~

G |
41652954077 d" d2

Question Number : 50 Question Id : 41652913825 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Excessive release of CO, into the

atmosphere resulls in :
Oprions :

4165295407g, epletion of ozane

41652954079, formation of smog,

obal warmin
41652554080, & 8

41652954081, e

Question Number : 50 Question Id : 41652913825 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

wgfat H CO, %1 steatse st =1 aftom
g:
Options :

41652954075, I 1 ST

416523540793 5 e

41652954080, T

41652954081, 27 WG (vortex)

Qunestion Number : 51 Question Id : 41651913826 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

For a reaction,

Nj(g) + 3 Hy(g)— 2NH;(g); identify
dihydrogen (H,) as a limiting reagent in the
following reaction mixtures.

Options :



a1652054082 128 0fNa+ 4gofHy

41653954083 D 8oINy+ 6gotH,

41652954084 08I Nyt 8gofH,

5 fN,+ 10¢g of H,
41652954085, A &%

Question Number : 51 Quesdon Id : 41652913826 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

srfafaa

Na(g) + 3Hy(g)— 2NH,(g) * fom
e AfviFEaes Mg | genssA
(H,) F Hreia sfverds ¥ &9 | wead
Options :

41652954082 N2 l4g + HaFldg

41652954083 2T 2Bg+ H,F6g

N-#35g + H,FI8g
41852954084 - E

41652954085 NS E + B, MIDg

Question Number : 52 Quesdon Id : 41652913817 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Consider the van der Waals constants, a

and b, for the following gases.

Gas Ar Ne Kr Xe
a/(atmdm®mol ) 13 02 51 4.1
b/(10 *dm’mol~! 32 1.7 10 50

Which gas is expected to have the highest
critical temperature ?
Options :

41652054086, P

41652954087, ¢



41652354088, e

41652954085, X8

Question Number : 52 Question Id : 41652913827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

freafeafiaa 46i % IreEey g 2 9491 b
72 fa=m wife
e Ar Ne Kr Xe

a/(atmdm®mol™2) 13 02 51 4.1

b/(10-2dm*mol-% 32 17 10 50
frpfefia # | faras fora wifas am % gaifas
B T HHEA 2 7

Options :

41852954056, i

41652954087, 'N€

41652354088, K

41852054080, e

Question Number : 53 Question Id : 41652913828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
For any given series of spectral lines
of atomic hydrogen, let
o

maximum and minimum frequencies in

‘max — Vmin be the difference in

em !, The ratio AV yman /AVBalmer 15 :

Opdons :

41652954090, = *°

41852054081, 111
0:4
41652954092,

41652954093 3



Question Number : 53 Question Id : 416529135828 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

T BEESE F TIagd (e w1 a Mg
sy & fore afs s=am au Freas smaf
H I AT = Fax — Pmin (cm ™~ H) 2
W-ﬂﬁl.}mm1 {’l’li-'ul'idln&'.r ﬁF“ '

Options :

41652954090, 2 ' 9

41
41652954091

41652954092, A

41652954093, -4

Question Number : 54 Question Id : 41652913829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Among the following, the molecule
expected to be stabilized by anion
formation is:
G, 05, NO, F5

Options :

O,
41652954094, -

7 ]

41652954085 -

41652354096, "

F,
41652954087, -

Question Number : 54 Question Id : 41651913829 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
frafafas 3 3, @) foasr Fomas =72
T B9 GYET R, 9E R
C,, O, NO, F,

Options :

-

41852954094 -



G,
41652854085,

NO
41852954096,

F,
41652954097 -

Question Number : 55 Question Id : 41652913830 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Among, the following, the set of parameters

that represents path functions, is :

(A) q+w

(B) q

C) w

Dy H-TS

Options :

41652954098, (A and (D)

41652954099, (B) and (C)

41652954100, (B) (O and (D)

41850954101, (A) (B)and (C)

Question Number : 55 Question Id : 41651913830 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Frefafas 4 |9, 9r=9a F1 92 9y=3 51 1Y
Fel 1 S €, e

(A) qtw

B) q

C) w

D) H-TS

Oprions :

41652954098, ) TN (D)

41652954099, B) T (C)

41652954100, ) (€) T (D)



a1essas4icy. A (B) TH(C)

Question Number : 56 Quesdon Id : 41652913831 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Liquid ‘M’ and liquid ‘N’ form an ideal
solution. The vapour pressures of pure
liquids ‘M’ and ‘N’ are 450 and
700 mmHg, respectively, at the same
temperature. Then correct statement is :
(xyy= Mole fraction of ‘M’ in solution;
x,;= Mole fraction of “N’ in solution;
Yyy = Mole fraction of “M" in vapour phase;

11, = Mole fraction of ‘N’ in vapour phase)

Options :
IM _ M
X I s
a1650054102 N YN
M . UM
41652954103, N N
Xn Ui
41652954104, N YN

] - < e
41652954105 (g —¥ag) < By — W)

Question Number : 56 Question Id : 41652913831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks : 1

A M 91 79 ‘N’ T Ay e =10 #

S 78 ‘M a9 N & 919 g9 36 a9 W

FHW 450 T4 700 mmHg ¥ T WE

T

T xy, = fEEEA H M T HER 5
xy= Tae37 H ‘N’ %1 Hier &9 ;
Yy = AT S H M AR #HY
yy = TS S H N HR #

Options :



Iy _ WM

X
41652054102 N UN
g 5 LAY
X I
41652954103 N W
™M . WM

41652954104 N N

Yo —¥a) € (T =Y
41652954105 (¥yy —¥) < B —¥N)

Question Number : 57 Queston Id : 41652913832 Quesdon Tyvpe : MC(Q) Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The osmolic pressure of a dilute solution
of an ionic compound XY in water is four
times that of a solution of 0.01 M BaCl, in
water. Assuming complete dissociation of
the given ionic compounds in water, the
concentration of XY (inmol L~ !) insolution
is:

Options :

aes2e54106, 2X1077

=
41652954107 10%10

41652954108, 0X107°

—4
41652954109 %10

Question Number : 57 Quesdon Id : 41652913832 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
& H U AEtTE AE XY F 77 e
THTIE 24, 0.01 M BaCl, % 5l ¥ faera
¥ TR 2 AR e | e st

Afri = oA § fadem [l 9Fy gu, e
T XY %1 Wigdl (mol L H) &1 :
Options :

4x10-2

41652954106,



el
41652954107, 10%10

41652954108, ©X 107~

-4
41652954109, L

Question Number : 58 Question Id : 41652913833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

The standard Gibbs energy for the given
cell reaction in k] mol ! at 298 K is :
Zn(s) + Cu*(aq) — Zn**(aq) + Cu(s),
E°=2Vat298 K

(Faraday’'s constant, F=96000 C mol ~ )

Opdons :

41652954119_192

41652354111, o

41652954112."384

41652954113, 192

Question Number : 58 Question Id : 41652913833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

faa 13 A= sAftafEma F v 208 K W 9
e == (kJ mol - L3) & .

Zni(s) + Cu*(ag) - Zn**(aq) + Cu(s),
298 K WEo=2V

(= feemia, F=96000C mol 1)

Optons :

416525854110. e

41652954111, e

41652954112, 384



416529541138, 192

Question Number : 59 Quesdon Id : 41652913834 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

The given plots represent the variation of

the concentration of a reactant R with time
for two different reactions (i) and (ii). The
respective orders of the reactions are :

(i) (ii)
In[R]| S Rl ™~

time lime
Oprons :

'

41652354114,

41652354115. L0

41652954116 11

41852354117. O:a

Question Number : 58 Queston Id : 41652913834 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

4 e T e, 1 At (i) 99 (i)
& fom, sifusdes R &1 Arad & 999 & WY
T 9ftada %1 el wm ¥ | sfafmaed
¥ wiTE FE T

(i) (i)
In[R] S RI|

HH9 Ll
Options :

41652954114 41

41652854115, L0



41652954116. L1

41652354117. 0,2

Question Number : 60 Question Id : 41652913835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The aerosol is a kind of colloid in
which :

Oprons :

41650954115 1quid is dispersed in water

41650541y SAS o ddispersed in Bquid

s is dispersed in solid
41652954120, 8a o

sisbgadion solid is dispersed in gas

Question Number : 60 Question Id : 41652913835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

wirate us U Fenge ¢ faad

Optons :

41652954118 T B TR T

a16529541 19, =3 0 T IR ¥

41852954120 3 %l

41652954121 T8 S HifEA ¥
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Question Number : 61 Queston Id : 41652913836 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
If the function f: R—{1, —=1} - A defined

3

X

by flx) = is surjective, then A is

b
——

equal to :

Optons :

R~|-10
41852954122 [ )

41652954123, R-{-1}

41652954124, R-(-1.0)

[0, )
41652954125

Question Number : 61 Question Id : 41652913836 Queston Type : MCQ Option Shufflin
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

L]

g : Yes Display Quesztion Number : Yes

2

-,
-_

X
50 vt ¥ 9 S (surjective) &,
Am%:

AR (1, -1 A, f(0) = - =

Oprions :

41652954122, R-t+10)

41652954123, R-{-1]

41652954124, R-(-10)

0,
41552954125.[ o

Question Number : 62 Question Id : 41652913837 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



All  the @points in the set

4

s={ ::MR}{:’-: v-1) licona :

X

Options :

41650954105, Circle whose radius is J2.

41652954127, Circle whose radiusis 1.

41652954125 Straightline whose slope is 1.

41652954129, Straight line whose slope is —1.

Question Number : 62 Question Id : 41651913837 Queston Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

==Y S={“—+f:ttf li] (1= J_I} e
o1
Wi iz For w From & T -

Options :

41655054106 T T famE B V2 ®)

41652054127, & 30 fow! 1 &1

REDBER R U TE v famal 21 (slope) 121

41652954129, U Tt ) faaet e -1 %)

Question Number : 63 Quesdon Id : 41652913838 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Let p, g€« R. If 2~ V3 is a root of the

quadralic equation, x>+ px +q=0, then :

Options :

y
- o o
41652054139 P 4 +12=0

-
41852054131 3 P 16=0

41650954132, P-4 12=



>+4p +14=0
41652054133, 1 ' T

Question Number : 63 Question Id : 41652913838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

T p, q e R, A 2 - V3 TgEm wmm
C4pr+q=0FTFTAE, @ :

Options :
a1652954130, P~ 44 +12=0

o |
41650954131 9 P~ 16=0

1 g
41652954130 P-4 12=0

> 4+4p +14=0
41652954133 1 T

Question Number : 64 Question Id : 41652913839 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let a and B be the roots of the equation

“+x4+1=0. Then for v#0 in R,

v+l o« B
i is equal to:
B 1 'REY
Options :

41652954134 YW~ —3)

. P
41652954135, ¥ 1

3
41653854136 Y 1)

'
416528954137 -~

Question Number : 64 Question Id : 41651013832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1



WA o A1 B, T 22 4+ x+1=0F 9 5,

yt+1 (¥4 3
ARAy=0%fm | @ VB 1 o
' B 1 yta
2
Options :

.
41652954134 YW 3)

3 _
41652954135, ¥ 1

2
418529541356. yy==1)

iy
4152954137 -

Question Number : 65 Question Id : 41652913840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

B

1 n
then the inverse of 0 1 i5:

Oprons :
- 1 {]-.
12 3
41652954138 - s
1 0]
13 1
41652954139, ~ =
1 =13
0 1
41652954140, ~ x
1 -12]
0 1
41852954141, L

Question Number : 65 Quesdon Id : 41652913840 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



afa

e e R s Y

1 n

%,?"ﬁ[ﬂ ]}WW[WEM}%:

Oprons :
(% W
41552954138.‘12 1‘
- 1 ﬂ-.
13 1
41652954139, * <
1 -13
0 1
41652954140, -
n -12
0 1
41652954141

Question Number : §6 Quesdon Id : 41652913841 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

A committee of 11 members is to be formed
from 8 males and 5 females. If m is the
number of ways the commiltee is formed
with atleast 6 males and n is the number of
ways the committee is formed with at least
3 females, then :

Options :

41652954142, P=m—8

m=n=78
41852954143,

41652954144,

41652954145, T Hn=68

Question Number : 66 Question Id : 41652913841 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



8 ywdi a1 5 "feensdi § 9 11 v W UH
FHE] FTE W € | Al FHH FH 6 TEUI Al
FHA T % m TH & adl F9 T F:9 3 wiees
el FHE T F on TE €, 0 :

Options :
41652954142, N=m—8

m=n=78
41652954143;

41652954144 M= D=68

41652954145, M T N=68

Question Number : 67 Question Id : 416529123842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Let the sum of the first n terms of a

non-constant AP, - TR TV Ppe— be

- - n(n - 7)
2

If d is the common difference of this AP,

then the ordered pair (d, a;,) is equal to:

50n 4 A, where A is a constanL

Oprions :

41652954146, (90 30 +46A)

41652954147, (A S0 +46A)

41652954148, (A4 90+454)

41652954149, (P, 204400

Question Number : §7 Quesdon Id : 41652913842 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
T 9= wEr Al gETa Sl
(non-constant A.P.) a;, a5, a5, ......... ER-Ur
n Y81 F ATEA 50n + M!’t e, el

.
A T 3 & | 92 59 HHE 49 T AE AR
d #, 1 HfEd T (d, ag,) TEE

Options :



41652954145, (30, 50+46A)

41652954147, (AN +46A)

41652354148, (N 20 428

41652954149 (50,50 +45A)

Question Number : 68 Question Id : 416529135843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

10
s 10 _
Let ;ﬂﬂ* k)=16(2 ”, where the

function fsatisfies f(x + y) = f(x) [(y) for all
natural numbers x, yand f(1)=2. Then the
natural number ‘a’ is:

Options :

41652954150 .

-

41652954151

4
41652054152

41652954153, .

Question Number : 68 Question Id : 41652913843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

10
—_— ;-ffa*k]=iﬂzlﬁ‘llé_ S -
=

SiEd Hema «, y F fou, v f,
flx+y)= f(x) fly) 1 Hqwe Fa E a9 f(1)=2
T 0 W HE e’ AT

Options :

41652354150 -

41652954151,

41652354152,



41552954153.lb

Question Number : 69 Question Id : 41651913844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
If the fourth term in the Binomial expansion
' 6

of (31 IIL’E*‘I) (x>0)is 20x 87, thena
. X

valueol x is :

Options :

41652954154 B
41852954155

41652954156,

=
i
I3

41652954157,

Question Number : 69 Question Id : 41652913844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marksz : 4 Wronz Marks: 1
ura(
HAMTZT 0 & AxFITH T E :

+B
i X8 | (x> 0)F e wEE =
S

= | ra

Options :

B?_
41E52954154

B
41652354155

8
41652954156,

41652954157, ©

Question Number : 70 Question Id : 41652913845 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



k1

T

If the function f defined on {E' ?J by

rﬁcnﬁx 1 2
f(x)={ cotx~1
k,

I
=g = | =

is continuous, then K is equal to :

Options :

416852954158

| e

41652954154

41652054160, !

1
N

41652954161

Question Number : 70 Queston Id : 41652913845 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

ﬂfﬁmaﬁ{g. :})mmmwﬁwﬁa%

@msx—l L
fF f(x)={ cotx-1
Kk, xr=

ol I

T &, f k F0aT E -

Options :

2
41652354158

|

416529541549

(]

41E52084160.

1
NE
41852354161 7

Question Number : 71 Question Id : 41651913846 Queston Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Let f(x)=15-|x—10|; xe R. Then the set of
all values of x, at which the function,
2(x)=f(f(x)) is not differentiable, is :

Options :

41652954152.‘10]

41&52954163.'1n'15}

41652954164, 12+ 10. 15}

41652954165 1015, 20}

Question Number : 71 Question Id : 416521913546 Qu&sﬁm Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

WA f(x)=15-|-10;xeRE TxFH
a4t 7l ®1 gq=E, o W wed
g0) =/ (f(x)) FTFera TH €, ¥ :

Options

41650954162 10

41652954163, 1019

41652954164, 110,15

41652954165 > 1015, 20}

Question Number : 72 Question Id : 416329135847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let S be the set of all values of x for which
the tangent to the  curve
y=f(x)=x"—x>—2x at (x, y) is parallel to
the line segment joining the points (1, f(1))
and (—1, f(—1)), thenS is equal to :

Options :

&

41652954166 (3 )



| =

{51

41652354167,

5]
41652954168, ¥
[ 1_1}
l 3

Question Number : 72 Quesdon Id : 41652913847 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

AT S, x & 39 W A W WA €, T w

T y=flx) =2 — 22— 20 F A (x, y) W HTH

e T e g (1, /(1) 94 (-1, f(- 1)
1 T =19 TEEvE ¥ gt 2, §1S T

CE

Options :

41652954169,

41652954166, |

41652954167
1

{? 1}
41652954168 v

41652954163,

Question Number : 73 Question Id : 41651913848 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If f(x) is a non-zero polynomial of degree
four, having local extreme points at
x= —1, 0, 1; then the set

S={xe R:f(x)=f(0)}
contains exactly :

Options :



two irrational and two rational

41652954170 numbers.

Iwo irrational and one rational

41652954171, number,

4itsoesayyy our ratonal numbers,

41650954173, four irrational numbers.

Question Number : T3 Question Id : 41652913848 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks': 4 Wrong Marks: 1

Ife f(x), S =R F T TAR TEE ¢, fuE
g w fAg = ~1,0,1 WE @ q9=1
S=[x ¢ R : f(x)= f(0)) T 77 :

Opdons :

41652954170, L Ll i

2 HYTHE 991 U g HEem 2

41652954171,
41652954172 R YIOHE HEATE €|

|R {9y SE € |

41652954173

Question Number : T4 Question Id : 416329135849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

) 2/3 4/3_ ’
The integral sec”/3x cosec*/%x dx s

equal to :
(Here C is a constant of integration)
Oprions :

; -1/3 %
41652954174, S0t Tx + C

: -1/3., =

3
41652954175, otan Tx + C

3 _
-~ tan Yx 4+ C

41652954176, 4



' ~1/3
3
41652954177 2@ x + C

Question Number : 74 Question Id : 41651913842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

4/3

THFA Iﬁec:ﬁxcmec xdxy TR .

(7@ C U qHEE F9T 8)

Options :
2 o173 =
41652954174 ot Tx+ L
~1/3_ S
41652054175, o@n Tx + C
3 .
S an ™y 4 C
41652954176, 4
9 ~1/3 R
%
41652054177, S @n Tx kL

Question Number : 75 Question Id : 41652913850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

a2 "
I = e W
The value of ShX + COsY i5:
0]
Options :
T B 1

41652954178 2

41652954179, 4

41652954180, B

41652954181 %

Question Number : 75 Question Id : 41652913850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



TT.I'IE 3

J sin” x i
siny + cosx FIHA R :

Options :

-1
41652954178 2

=)

w—1
41652954179, 4

ITr—E
41652354180, B

41652954181 4

Question Number : 76 Queston Id : 41652913851 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The area (in sq. unils) of the region
A={(xy):x*sy=sx+2)is:

Options :
31
41652354182 6
10

41652954183, 2
B

41652054184
9

41€52954185.

Question Number : 76 Question Id : 41652913851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
A=, y): 7 < y< x+2) FAAEA (T
THIEEI H) 7

Options :

3

41652954182 6



10
41652954183 2

13
41652954184 °©

9
41652954185

Question Number : 77 Question Id : 41651913852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The solution of the differential equation

d
Iay + 2y=2" (x = 0) with y(l)=1,1is:

Options :

T gy 1

3 4 1x°
41652954186

4 1

y= g:rj t—
41652954187 x

e X ; 3

. S o | _2
41652954188 ¢ &

: 5 5y~
41652954189,

Question Number : 77 Queston Id : 41652913852 Question Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

S WHHT 2 2y=x> (x = 0) =

dy
7o forme o (1) =1%, %
Optons :
34, 3
y=—x + —
4 2
41652954186, 2
V= %-"-'3 | ,_1:!
41652954187 %



xz + 3
y=—+ —
. 2
41652954188, ¥ &
W= I3 { 1
=3 5x2

41652954189

Question Number : 78 Quesdon Id : 41652913853 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the tangent to the curve, y=;t-1‘ +ax—bat
the point (I, —5) is perpendicular to the
line, —x+y+4=0, then which one of the
following points lies on the curve ?

Options :

L
41€52954190, (& =1)

D =t
41852354191 F=)

41652954192 (-2.1)

41852954193, (—2.2)

Question Number : T8 Question Id : 41652913853 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
ﬂ'ﬁﬂﬁ?],f:r“-l—ax—haiﬁg{l, ~ 5) 9T @it
E DI, T —x + y+ 4=0 W Faad 2, 1
= 1 3 #19 W U fag, 9% W fem €72

Oprons :

41652954190, & ~ 1)

41852054191, (> ~2)

41652954192 -2,1)

=" |
41652954193, (22

Question Number : 79 Quesdon Id : 41652913854 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1



Slope of a line passing through P(2, 3) and
intersecting the line, x + y="7 al a distance
of 4 units from P, is :

Oprions :
J5-1
41652954194, 541
1-45
41652954195, 1+V5
+7—1
41652954196, ﬁ1 1
17
41652054197 1 1V7

Question Number : 79 Question Id : 41651913854 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
P(2,3) 8 & = 91 960 U @, W
x+y=7F P W 4THE F T W wia=sfea
A E, Elﬁﬁ'ﬁ"f[slupc] g

Options :
J5 -1
41652954194, 541
1-45
41652054195 145
J7-1
sinssaing V1
=37
41652954197 144,

Question Number : 80 Question Id : 41652913855 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



If a tangent to the circle 22 + y* =1 intersects
the coordinate axes at distinct points P and
Q, then the locus of the mid-point of PQ

Oprtions :
.
41652954198, ¥tV —2=0
. 2 o e S
41652954199 ¥ T 2y~ =0
2 - p - _'_
41650954000, ¥ty 4y =0
. - - .._
4165295401 ¥ty —16xy==0

Question Number : 80 Question Id : 41652913855 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

At ga x> 4 = 1 %1 UF oo Faws A
=1 fum fagadl P awr Q W wfasss =t &

PQ ¥ T=afag =1 4594 (locus) ¥ :

Options :
2 4 42 Damp
41652954198, ¥ TV —2y=0
z 2 v S S
41652954199, ¥ - 2y=0

41652954200, ¥ TY —4ry =0
41652954201

Question Number : 81 Question Id : 41651913856 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
If one end of a focal chord of the parabola,
y*=16x is at (1, 4), then the length of this
focal chord is :

Options :

41652354202, 2

41852054203 24

2
41652954204



41652354205,

Question Number : 81 Question Id : 41651913856 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
Ifg TEET = 16x F UH AT F1 UF
B (1,4) W & T 57 =1 %1 &40 ¢

Opdons :

3
41652954202 >
41852054208 24

2
41652954204,

41852354205 -

Question Number : 82 Queston Id : 41652913857 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

If the line y=mux+ Tﬁ is normal to the

2 2
hyperbola T L _ 1, thena value of
. 24 18
m is :
Options :
2
41652354206, JST
¥5
41652954207, 2
3
41652354208, Ug

5

5
41652954208, 2

" .

Question Number : 82 Queston Id : 41652913857 Quesdon Tyvpe : MCQ) Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1



afe t®r  y=mx+73, FAfawaEm

2 2
B % X 5
— - = = 1 % AT, Wm F1TFH A
9 T 2 Wm LLED
7
Options :
2
41652954206 V5
V5
41652954207, 2
3
41852954208, V5
V15
41652954209, =2

Question Number : 83 Queston Id : 41651913858 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

1. y¥1 2z2-2
2 3 4
plane, x+ 2y + 3z=15at a point P, then the

distance of P from the origin is :

If the line, meets the

Oprions :

41652954210, /2

41652954211, 2

41852954212 ZJE

41652954213 Jg /2

Question Number : 83 Question Id : 41651913858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
-

x-1 _y¥1l z-2
afE T o e
x+2y+3z=15F g PR et g, P #

e dagie:

Opdons :




41652054210, 7/2

41652954211, W2

——

J5/2

41652954213

Question Number : 84 Question Id : 416529123859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
A plane passing through the points
(0, =1,0) and (0, 0, I) and making an angle

ir— with the pl,am: y—z+5=0, also passes

through the point :
Options :

41652954214 2, 19

2, -1,—9)

41652954215,

(2,1, —4)

41652954216,
41652854217, {ﬁ' L4

Question Number : 84 Question Id : 41651913859 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

fagad (0, —1,0) @1 (0, 0,1) A B F2 =4 =ren

T HHAH, N FHAEA y— 2+ 5=0 F HY ir—
= F o9 2, A 5§ fem fag @ @
E G & ¥

Options : .

41652954214 (2, 1,49

o
41652954215.{ ‘C' 9



2,1, -4)

41652954215:[

; 3
4165295421?.{J:'1'4}

Question Number : 85 Question Id : 41652913860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

Let a=3i+j and B=2i-j+3k. 1f

—

P =By

s -
P2, where P1 is parallel to a
and P2 is perpendicular to ,:, then

B1 * B2 is equal to :
Options :
%{-3:‘ 19 j45k)
41652954218. ©

13i-9j+5k)

41852954219
3i 4945k
41652954220 ~
3i-9j-5k
41652954221

Question Number : 85 Question Id : 41652913860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
T «=3i+j A B=2i-j+3k I AR
B =Py P2 % el By ofew o FaOim e
= ) o
aq B afew o F g e @ Py X Ba
AT
Options :
%{ 3i+9+5k)

41652954218



- N

1 A
—(31—-9j+5k
i

41652954219
3i19j45k
41652354220
3i-9j-5k
41652954221

Question Number : 86 Quesdon Id : 41652913861 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1

Four persons can hit a target correctly with
| 1

probabilities E ; I and E respectively.
If all hit at the target independently, then
the probability that the target would be hit,
is:

Opdons : _

25

2

41652954222. 4
41652954223,

41652954224,

41652954225:192

Question Number : 86 Queston Id : 41652913861 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
R =fEdl & TF O% W SF THE H TER

1 i Wi ;2 35 g E
afe gefl 79 w19 W EdE T Y WEN 4 B, a1
%A Y AT B T WA € :

Options :

25

2

41652954222 "



41652954223

41652954224, -

25

41652954225.192

Question Number : 87 Queston Id : 41652913862 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the standard deviation of the numbers
~1,0,1,kis \/5 wherek >0, then k is equal
to:

Options :

41652354226 Jg

IJ

[
wlc,

41652354227

2J6

41652954228

5
4\/3
41652954229

Question Number : 87 Quesdon Id : 41652913862 Quesdon Tvpe : MCQ Option Shuffling : Yes Display Question Number: Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1

Ife HEmaii — 1,0, 1, k F1 9EE fqa9e=1,/5 2,
TR k> 0% Ak WA E:
Opdons :
4165954006 VO
10

7 g ol

41652954227 3

2J6

41652954228,



N
41652954229, =

Question Number : 88 Question Id : 41651913863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
The value of
5 - 2 1
cos-10° —cos10° cos5(F + cos50° is :

Options :

3
— + cos2()”
41652954030, 4

41652954231, /4

3 "
(14 cos20%)
41852954232 ©

b
41652354233 e

Question Number : 88 Queston Id : 41652913863 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks: 1
i “¥
€05710° = cos10° cos50° + cos>50° T HA & :

Options :

3

— + cos2(0°
41852354230,

41652354231, 34

3 (14 cos 20)
41652954232 2

2
41652954233, Y2

Question Number : 89 Queston Id : 41652913864 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let S={0¢[- 2w, 27] : 2 cos?0+3 sin=0} .
Then the sum of the elements of Sis;

Options :



13

41652954234 6
o

41652954235, 3
217

41652954236,

41652354237

Question Number : 82 Question Id : 41652913864 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

T
S={0e[ 27, 2] : 2 cos20 1 3sin0=0} 7,
A S F HFIET 1 ATEA ©

Options :

13+
41652954234 O

41852954235, 3

41652354236,

41652954237

Question Number : 30 Question Id : 41651913865 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
5Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

For any two statements p and q, the

negation of the expression pv(~ paq)

s
Options :
e
41652354238, P 1
. i
41852354253 P d
A
41852954240 A
Peq

41652354241.



Question Number : 30 Queston Id : 41652913865 Queston Tvpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks: 1
=1 <1 Ferl p a1 q & T, =ier
-p v~ pnaq)®Hl IEEEE] (negation) L

Options :

41650954238,

aigszsazzs, P

steszosqatn, P10
Peq

41652354241,



